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7.1 Simple Interest

Simple Interest Formula:
I =Prt

I- interest earned, in dollars
P- principal, original amount invested or borrowed, in dollars

r- annual interest rate, expressed as a decimal

t- time inyears
e TR
A-final amount of the investment or loan, in dollars

A=P+ 1
A—P47 subs‘riTu‘re{I = Prt K
A=P+Prt

A=PA+rt)
So Simple Inerest Amount Formula is: use 1 Q’\‘Q
P Y e, &\/\k

A=P+] OR A:P(I—FI’T) G D U 0\&
ond

Looking at time:

1 year=1year 19 weeks =19 years
52
7 months -1_72years 251 days =251 years
/Q 365
H &P monthy
In N[Ral

R6S x4
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Ex1: /

Lisa invested $8000@r 9.25% for 30 months. Calculate the interest earned and
the(final) amount.

T =Prt
=$8000 _5000(5.0925)(2.5)
(20649725 Lm
1+ =30
T A=P 4+ T
=25 vj‘_a_ooo-k 1850
ASNLEY
Ex 2:

Dylan has an investment that earns him $300 each year. If the annual rate is
8%, what is the principal?

P=7 360 L Blaon)(i
: 200 = F(o.0%)(I

:-E’_:%I\gOO 0.0 00(2 _

[ =0.08 F=%3350.00
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_EX_3: m N 1. .
Complete the table if $100000 is invested at’6.5% /a/simple interest. ore:
= You only earn
Interest $ interest
Year I=Prt ? CTC umu!ra;ed Ar:oum‘ at end on Original
nreres or yedr amt invested
1 $6500 $6500 $106500
2 $6500 $13000 $113000
3 $6500 $19500 $119500
4 $6500 $26000 $126000
5 $6500 $32500 $132500
6 $6500 $39000 $139000
Graph:
%
_~ Notice Simple
% Interest is
g 7 Linear
;g 19500 /
_§ 13000
§ 650
year
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David invested in a 15-week term deposit that earned 7 374% of simple interest annually.

When it matured he received $1250 in interest. He then reinvested all his money in a 40-
reinvested

week term deposit so that it would earn 8.5? annually. —

a) How much was the original investment2—

=7 T —oprt .
T-[25D (250> P(o,om@{%’ig
(e T o) PoTE

—

52 P=1%5¢ 913 g%

b) How much will David have when the second tferm deposit mature?

1‘:
P-ssal3.9%t RSO = 5% 163.9%
= 0-0RS
- 40
€ 53 T=0Prt
=57 163.9% (p.0v5) 42

I =337 ¢4

A=PAT
_ ST 163.4% 1 33239,u4

[A= #60901.63)
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PRACTICE:

p4b9 # 1, 2 4,
5 (simple chart only),
6-9,10q, 13,15
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